; ; ; o @ X
5. Consider the differential equation %= -
dx ¥y

a) On the axes provided, sketch a slope field for the given differential
equation at the twelve points indicated and for -1< x < 1, sketch the
solution curve passing through the point (0, -1).

¥
v

b) While the slope field in part (a) is drawn at only twelve points, it is
defined at every point in the xy-plane for which_y # 0. Describe all

points in the xy-plane, y# 0, for whic
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Match the following differential equation with the correct slope field
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CALCULUS: 6raphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy

Chapter 6: Differential Equations

Rewrite each ¥= |
definite integral in | |
terms of uand du <l

6.2: Rewriting integrals using u-substitution

[ (5x+ 4)elLet u=>5x+4

du - 5
dx
d“_:.SCh(
du =4
5

| I 8
Ll
(2
f (4
¥y \dx

2{ _Z[3x2(x3+4fdx tu=x"+4

(i.“’ - 3 Xl
dx
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_[ BIDX Let u = cosx
(cos x)5
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cos(2x+1)kLetu=2x+1 -» du
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= dx
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